[ number of missing inner layers |

Ratio

mean hi

<hits> vs n

Ratio

1 Entries 13404

E i | Mean 0.1426

F ;| std Dev 0.3608
107 e 13404
E Mean 0.1426

C Std Dev_ 0.3608

1072

1073

10

107°

Entries
Mean

| Std Dev

10u

0.95L

0051152253354455

[ number of missing outer layers |

1 - - —| Entries 13404
: : + | Mean 2.614
: : : std Dev 2.698
_1 N P :.__ h I
10 : : : " TEntries 13404
F : : 1 [ Mean 2.614
1072 s : 5
3l : : :
10°F : ; .
107 : . .
F : : + | Entries
- . N 1 | Mean 2.614
1075k e T U SO 1. LStd Dev 2.698
ey I B R PR R
T
& ]
0.95L : : :
15 20

5 10

25

20

16
14
12F
10F
8

11 SO RN SRS SR s S

|||1u|||||||||||||||||||

||I11I||

=

o
©
Ll

O[T

-2

-1 0

1 2

track n
[ N of simulated tracks vs pT |
- - - Entries 87330
i : : Mean 0.4266
10 : : Std Dev 0.218
Eﬂ Entries 87330
r : Mean 0.4266
) R P :_ ______ Std Dev 0.218
107 : - 1
F : Entries 87330
- . Mean 0.4266
103 I Std Dev 0.218
E : Entries
I : Mean
S e Std Dev 0.218
107E : .
E : . I
C : Entries 87330
r . Mean 0.4266
1075 SRRRRRREEE EERREREREER , ....... Std Dev 0.218
10— | |
- oo —
0.95 H H H

10°

10?

10

=
T

iy
TTTT] T

] Entries

Mean
Std Dev

1] Mean

Entries

Entries
Mean
Std Dev

25

30 35 40
track hits

— - Entries 134888
i : Mean 2.034
10 : Std Dev 17.02
E T e Tttt T 1
E Entries 134888
N : : Mean 2.034
1072  E H. S L Std Dev 17.02]
E : [ Entries 134888
L . Mean 2.034
10—35__ I T R Std Dev 17.02
F Ent/Tae
5 : Mean
10—4 ......... Heeeeeeaaaas e Std Dev
: Entries
r Mean
10’5 SRR LR P PP PP EEPEEEPPETE Std Dev
01058k il
3| :
x| E
1 :

10°

10° track p_



	Contents
	Page 1


